
 (2) شيمي 

/38 6

CH4

N HNH3

(C H )2 6

c5j / molc23

c5c11

kj / c17

CO2

(L)P O H O H PO H kj    4 10 2 3 46 4 397

(L)PCl H O H PO HCl H kj     5 2 3 44 5 136

(L)POCl H O H PO HCl H kj     3 2 3 43 3 68

HP O PCl POCl 4 10 5 36 10

POCl3



 

H2N2NH3

N H NH 2 2 33 2

H )1(N 14

CHCl3C H OH2 5

(C ,O ,H ,Cl / )   12 16 1 35 5
CH Cl CHCl HCl  4 2 33 3
C H H O C H OH 2 4 2 2 5

HNH N O N H O  3 2 2 22 3 4 3

kj / mol44

(l)NH O N H O H kj     3 2 2 24 3 2 6 1351

(l)N O H N H O H / kj     2 2 2 2 367 4

(l)H O H O H / kj    2 2 2
1 258 9
2

C H

Cl Cl

H Cl

C Cl

C C

O H

C O

C C 



 



 


